H £ 0l & AF & S

Al A

M o - 01E 51 88
el Aet Ot =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
JEE=SX1 83,983,617 81,474,083 2,509,534
= 41,389,399
[ 781,081
Il 3,682,880
Al 25,651,770
- 12,478,487
g - JE =X 58 9,316,558 8,712,679 603,879
= 1,327,050
Il 3,421,603
Al 2,749,711
- 1,818,194
228 e |4 1,364,024 1,190,400 173,624
2l 544,592
Al 332,738
- 486,694
HegAASH 24,120 25,210 1,090
201 fer= 3| 6,720 7,810 1,090
01 At 2|l 6.720 7,810 21,090
ONE=NSN 22= HH
800,000 800
ONEEEEI} 42DS
4,000,000 4,000
OdEISHEIIRIAS TS =&
70,00021%10%+15] 700
Q4= (YRS A=Y
800,000 12 800
O ESPNIDS BN 70,0008 65 420
202 04l 400 400
01 =LHAHI 400 400
OZ2/04H| 400,000 400
307 @120l & 17,000 17,000
1 AMISXAIEEX 17,000 17,000
OLLBSTAI|ESAL
10,000,000& 10,000
OWAEXIEX |2AE 7,000,000 7,000
HEEH 2sX2 7,000 6,951 49
203 HE=AH] 660 611 49
03 A= P2 FAI| 660 611 49
FQAHFE 660,000 660
307 @20l & 6,340 6,340
02 QI BHANEEX 6,340 6,340
OW & THASALAL B0t Z
6,340,000 6,340
Ced=4dH 23 12,000 25,000 A13,000




2A:

¥ oy - J1E =X B&A
el H2E OHE =4 EEED
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
307 212t01™ 12,000 12,000
05 elzte(& = 12,000 12,000
Ot=gd=HE 2SHI(XHA)
12,000,000 12,000
JIBHH 29 626,630 638,490 211,860
Il 313,315
Al 156,658
T 156,657
307 212t01™ 626,630 638,490 211,860
Il 313,315
Al 156,658
T 156,657
10 MEISXAIEHE2EHIEX 626,630 638,490 211,860
OJI54dE 238 626,630,000 626,630
J| 313,315
Al 156,658
- 156,657
JIEHH 22HI(FIH 50,400 50,400
307 212told 50,400 50,400
05 elzt?(& = 50,400 50,400
OJI=HE 2281(F1)
50,400,000& 50,400
JESHIH Ol™ JH2tAl 5,000 5,000
201 =3 5,000 5,000
03 HAI2HI 5,000 5,000
OJISHH 0l& JH2tA 5,000,000& 5,000
JFSHIE J1XHHEI 80,000 0 80,000
402 QI X201 & 80,000 80,000
03 QI2+RAETAIS I 80,000 80,000
OII=54E JIXHHbI 80,000,000& 80,000
JIBHE AL =& 2,400 10,200 A7,800
Al 1,200
T 1,200
307 212+01™ 2,400 10,200 AT,800
Al 1,200
T 1,200
10 MEISXAIEHE2EHIEX 2,400 10,200 AT,800
OIIEdIE SAK XHE 44
40,0003+~ 123 2,400
Al 1,200
- 1,200
Ch2ahEs X3 24,980 24,980 0
Al 8,000




FA OEES A
oM - OIS =X 52
el Aet Ot =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 16,980
201 Zet=3hl 980 980
01 AtR2t2|HI 980 980
OU=ZsEXEE2sl sloydsg
70,0002 7 H =23 980
307 212+01& 24,000 24,000 0
Al 8,000
T 16,000
11 AMEISXAEEES 24,000 24,000 0
O=7 UEsHE stesinte
8,000,002 8,000
OLIREIS MEIRS L ZIIFEAY X
el 10,000,000& 10,000
Al 5,000
- 5,000
Ot=2=hhE W= 6,000,000 6,000
Al 3,000
- 3,000
CESIR(RHZEE) HH 32Y X2 12,500 10,000 2,500
Al 12,500
307 elztol & 12,500 10,000 2,500
Al 12,500
1 MBI = XA 2 X 12,500 10,000 2,500
OCIREPI=(2HREINE) BRY N
12,500,000 12,500
Al 12,500
23t SatAtg 329,130 323,357 5,773
Il 164,565
Al 82,282
- 82,283
307 el2to| & 329,130 323,357 5,773
Jl 164,565
Al 82,282
T 82,283
11 AMEISXAIEEE 329,130 323,357 5,773
OLE3tE Y2 usAHIA N3
185,750,000 155,750
) 77,875
Al 38,937
T 38,938
OZE0I2A SHSANHIA XIZ
36,110,000& 36,110
) 18,095
Al 9,028




2N JIE=X13
B Ol - O1E =X B3
el Aet Ot =4 EER=E)
SN - B S(BH) - HBAY - BAS 0 &y e HIRS2
- 9,027
Otr23hts Ardee XA
83,480,000& 83,480
J| 41,740
Al 20,870
- 20,870
O0I&E20 Jtsstd =4
53,790,000& 53,790
J| 26,8%
Al 13,447
- 13,448
Ct=3t SAMES SAHA =5 18,240 8,160 10,080
307 S1Zto| A 18,240 8,160 10,080
10 Al SXAEEE2IHIEX 18,240 8,160 10,080
OC23t ESAIE S SAHAE R0 &H|
130,000 8 » 12& 12,480
OUZ3t EStAIES SALA A3 E
40,0003 =128+ 12& 5,760
ZE0|2A He2 K& 20,000 20,000 0
J| 10,000
Al 5,000
- 5,000
307 CIZ2tOI A 20,000 20,000 0
J| 10,000
Al 5,000
- 5,000
11 MIISEXAEEXR 20,000 20,000 0
OZE0|2Xt A2 K&
20,000,000& 20,000
Dl 10,000
Al 5,000
- 5,000
S=sR0tUsH 29 113,424 56,712 56,712
J| 56,712
Al 39,698
- 17,014
307 2I2t01 ™ 113,424 56,712 56,712
J| 56,712
Al 39,698
- 17,014
11 AMSIEXAIEEXR 113,424 56,712 56,712
O3s=0tU=sH 29 XI&
56,712,000 *2JH A~ 113,424
J| 56,712




A JESX
33 o - ot
el Aet Ot =4 EER=E)

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 39,698
T 17,014
ARISXAIE SAHL XEE SAREUE K& 27,400 29,100 A1,700
Al 27,400
307 212+01& 27,400 29,100 A1,700
Al 27,400
10 AlISAAZEE 22X 27,400 29,100 A1,700
OAIZISXIAIE SALRG 5 SKIEQUE
A 27,400
©3dE~bE & 300,000& 14 *13] 4,200
Al 4,200
54 0lat 3= 400,000 x58E 12 23,200
Al 23,200
ARISXAIE SAHL XEE SARUE It XA 10,800 10,200 600
307 @120l & 10,800 10,200 600
10 Al SXAIZEHE 22X 10,800 10,200 600
OAZISXIAIE SAHL} 58 SXEUE
=t XI& (XA 200,000 x54E 12 10,800
= 4,243,190 3,878,540 364,650
Jl 2,677,752
Al 1,117,938
- 447,500
SHREEIENH SIS N 3,318,450 2,956,800 361,650
7l 2,653,960
Al 664,490
301 LELE NS 3,318,450 2,956,800 361,650
Jl 2,653,960
Al 664,490
01 AR E2EHSFS(RRNEERTHE) 3,318,450 2,956,800 361,650
O8RS ots2=4l K
210,000&%1,250F 123 3,150,000
) 2,520,000
Al 630,000
Ost=REItE FItotsLsdl K
102,000,000 102,000
Jl 81,600
Al 20,400
OR2I1E S04 8234l X
93,0003 *650 60,450
) 48,360
Al 12,090
OstR2I1E deg2xs N
50,0002 x10E 122 6,000
7l 4,000




2A: JIESsX
oM - OIS =X 52
& SIRE2IIE XN (SH &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
| Al 2,000
HAUESIER XX 29,740 29,740 0
J| 23,792
Al 5,948
301 LEIENZ= 29,740 29,740 0
J| 23,792
Al 5,948
01 AIBI 2 & A& 251 2(2DEXTHH) 29,740 29,740 0
OFALEEER Ol=2=H| XIS
150,000 * 15 * 123 27,000
J| 21,600
Al 5,400
OFAESIE D HE Al st&Hl A&
1,540,000& «1H 1,540
J| 1,232
Al 308
OFEAESED XEER4LE X
100,000& 1128 1,200
J| 960
Al 240
SIRDIIE g XA 895,000 892,000 3,000
Al 447,500
- 447 500
301 LEIEXNZ= 895,000 892,000 3,000
Al 447,500
- 447,500
02 AIS| 2 & A 25 2(F AU HE, NLHH) 895,000 892,000 3,000
OstE2It= JHHXIEH] X
50,000 x615Y 128 369,000
Al 184,500
- 184,500
QetE2II1E W=1MYl A&
516,000,000& 516,000
Al 258,000
- 258,000
OstE2ItE MAMXZ2 XA
2,000,000& x5 10,000
Al 5,000
- 5,000
SIERIIESIALE 29 1,220,591 1,155,589 65,002
= 88,690
J| 125,660
Al 1,004, 141
- 2,100




FA OEES A
Hu: ofM -0l =X =2
el SIRZIIESIAE 28 (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
SIRDIIE=IAE 29 N2 904,310 950,267 N45,957
Al 904,310
307 21201 & 904,310 950,267 N45,957
Al 904,310
W EE N EEEEEEES 866,310 906,267 39,957
OBI2DIE=TAE SHHI(3H2)
866,310,000 866,310
Al 866,310
11 ARIS XA E X 38,000 44,000 26,000
OBI=RNE=TAL HAT HEEES X
% 3,000,000 x5 12| 15,000
Al 15,000
OSRL2IIE=ERNAIE JIFAE 2 XIZ3=
A& 23,000,000 23,000
Al 23,000
SIREIIE=SIIAIE 4T & - 41,520 36,466 5,004
Xz2X&
Il 20,760
Al 20,760
307 @120l & 41,520 36,466 5,054
Il 20,760
Al 20,760
11 AR SXAIEE X 41,520 36,466 5,004
ORZ2IE=XAE AT 4818 XS
41,520,000 41,520
J| 20,760
Al 20,760
SIRIIIESTIAE O0ISSAHIA X 113,403 132,588 A19,185
Il 79,382
Al 34,021
307 gl2to| & 113,403 132,588 A19,185
Il 79,382
Al 34,021
MEISTAFHE XL 113,403 132,588 A19,185
OIRI2IIE=RAIE O0ISEAMEIA X
113,403,000 113,403
Il 79,382
Al 34,021
SIRDIIE=IAE JIsE2 K& 14,080 19,938 /5,858
Il 7,040
Al 7,040
402 I2FX=01 & 14,080 19,938 Ab,858
Il 7,040
Al 7,040




FA OEES A
oM - OIS =X 52
&2l SREIE=SNAE 29 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 QI X2 AL EE(OIETHE) 14,080 19,938 Ab,858
ORL2IE=XANE JIs2Z N
14,080,000& 14,080
Jl 7,040
Al 7,040
SIREIIESIANE ARISERE K& 20,578 16,330 4,248
Il 18,478
- 2,100
301 22N = 20,578 16,330 4,248
Il 18,478
- 2,100
0 AR=SR22a= 20,578 16,330 4,248
OA =83 24= 20,578
o2 16,200,000& 16,200
) 16,200
OousHl s 1,078,000 1,078
Jl 1,078
OXL2u=H| 1,200,000 1,200
Jl 1,200
ozA| 2,100,000& 2,100
OISR NH48012 2 X 126,700 0 126,700
= 88,690
Al 38,010
307 elztol & 126,700 0 126,700
= 88,690
Al 38,010
11 AMEISXAIEEXS 126,700 0 126,700
ORISR G2 28 A&
126,700,000 126,700
= 88,690
Al 38,010
HE=E - 428 X 155,853 154,450 1,403
Jl 73,599
Al 79,374
- 2,880
JHE =S okt 2 =4l K& 733 1,200 N467
Jl 513
Al 220
301 2eEN= 733 1,200 VAV:s74
Jl 513
Al 220
01 A2 HSHS(RNEERTH) 733 1,200 NABT
OJMEZ TahAt 2=l 733,000 733
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A JEE=SX0
¥ oy - J1E =X B&A

ol JIEES - 458 34X CERE)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| 513
Al 220
SHE MEA 29 143,892 142,022 1,870
J| 71,946
Al 71,946
307 212+01™ 143,892 142,022 1,870
| 71,946
Al 71,946
10 Al = XA EHE2FHIE X 143,892 142,022 1,870
Od=ZgagL 29| 143,892,000& 143,892
| 71,946
Al 71,946
SEHAEAN =IO AH 9,600 9,600 0
Al 6,720
- 2,880
307 212+01™ 9,600 9,600 0
Al 6,720
- 2,880
10 Al S XA EEHE2IHIE X 9,600 9,600 0
OdZg 4L SAL M|
160,000& x4 H 122 7,680
Al 5,376
- 2,304
O =S4 A AR AHEY
40,0002 +4H*12& 1,920
Al 1,344
- 576
o= ToHA 2l=h| - 28| XA 1,628 1,628 0
| 1,140
Al 4838
301 LetENZ 500 500 0
| 350
Al 150
01 AISIBE XS (2 REZE) 500 500 0
O&=" TloHAt 2= 500,000 500
| 350
Al 150
307 212+01™ 1,128 1,128 0
J| 790
Al 338
11 Al =SXAMEES 1,128 1,128 0
Od=g TloiAt 2=l 700,000& 700
| 490
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FA OEES A
HH: HAW ATWERES 9I8 BATH
ol Fad AE8 =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJ1=2E(HIus) 4, 7003 x350H+ 123 1,974
O=UE(1S) 6,500 +5501 x 128 4,290
(©LIE] 900 *90IH =122 972
Oo=zg=4 980
OFAHHE 2RI 2 HAL HAH
3 34 ¢ 70,0008 7 H 23] 980
2 s5=34l 15,000 27,000 A12,000
OBAHZEEHH A2l
10,000,000 10,000
OFAHHH =Xl2cltl
5,000,000 5,000
307 lztol & 2,700 2,700
02 LB HAHE L 2,700 2,700
OF44d ZoHEY & sEMEES
1,400,002 1,400
OHAE HEXE U SHSZ LNES
1,300,000& 1,300
401 AIEHIZ SR HYI 72,000 72,000
01 Al&HI 72,000 72,000
OFAHHH 243 A
72,000,000 72,000
Had SEXA 41,646 35,142 6,504
Jl 29,152
Al 6,247
- 6,247
301 LEIE NS 41,646 35,142 6,504
Il 29,152
Al 6,247
- 6,247
01 Al 2E AL S(FREXM) 41,646 36,142 6,504
OSEXaUg 443 XA
41,646,000 41,646
Jl 29,152
Al 6,247
- 6,247
NAS HdEad IMES N 132,114 119,14 12,920
= 66,057
Al 33,028
- 33,029
307 21201 & 132,114 119,194 12,920
= 66,057
Al 33,028
- 33,029
05 2I2+RIE =S 132,114 119,194 12,920




A JESX
HH: HAW ATWERES 9I8 BATH
oels 4 A FY EER=E)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
ONAE OIHEAE SMRE K2
132,114,000 132,114
= 66,057
Al 33,028
- 33,029
FAEI=SKEANE 2 K& 119,823 112,827 6,99
Il 59,912
Al 59,911
307 el2to| & 119,823 112,827 6,9%
Il 59,912
Al 59,911
10 MEISXAIEHE2EHIE2X 119,823 112,827 6,99
OFAHSFXHANE 22X
119,823,000 119,823
Il 59,912
Al 59,911
FAEI=SXZAAE HLHAH X2 1,440 6,120 24,680
Al 720
- 720
307 elzto| & 1,440 6,120 A4,680
Al 720
- 720
10 MEISXAIEHE2EHIE2X 1,440 6,120 A4,680
OFAESISXHAE SAXE
1,440,000& 1,440
Al 720
- 720
H4HE 2324 27,200 34,400 AT7,200
Al 5,000
T 22,200
HFAE0SE0E X 7,200 14,400 AT7,200
307 el2tol & 7,200 14,400 AT,200
05 glzt?(& = 7,200 0 7,200
OF2d0=80tg N&
7,200,000 7,200
AEO & AL 20,000 20,000 0
Al 5,000
- 15,000
307 212t01™ 20,000 20,000 0
Al 5,000
T 15,000
02 QI HAANEE X 20,000 20,000 0
OFAHS & &AL 20,000,000& 20,000
Al 5,000
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SN FESXD
FH: Dot EsKA
=Rl Ol SESAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,884
Al 236
- 236
01 AlR22IH| 1,960 1,960 0
OMNUZESIAS UL LW} B4
70,0002 x4 +73] 1,960
= 1,568
Al 196
- 196
2 33234l 3% 450 Vana'!
OOtSESHERHY SSFUE AIER
33,000~ 1CH* 122 3%
s 316
Al 40
- 40
202 04| 840 840 0
= 672
Al 84
- 84
01 =LHOHI 840 840 0
OZ&0Hl & w=tl 70,0002 122 840
[ 672
Al 84
- 84
301 LEtE NS 1,804 1,750 54
[ 1,444
Al 180
- 180
01 Al EE A S (2 RNEXMA) 1,804 1,780 54
OOISESAHIA Al 22|
1,804,000& 1,804
[ 1,444
Al 180
- 180
d20tsEsHl XA 36,000 48,000 212,000
= 25,200
Al 10,800
301 2= 36,000 48,000 A12,000
= 25,200
Al 10,800
01 A2 HSHS(RNEERTHE) 36,000 48,000 A12,000
Od=20tsEsH| X 36,000,000& 36,000
= 25,200
Al 10,800




2A:

A 2D|0tE 2SN
&2l OtEESAY (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
olE2E2Yl X2 1,500 1,500 0
= 1,050
Al 450
301 LBt NZ 1,500 1,500 0
= 1,050
Al 450
01 AlBI 2R =232 (N2 ETHE) 1,500 1,500 0
OOtsEE7gH| X8
1,500,008 %1% 1,500
= 1,050
Al 450
SDI0LS IHEES M2otsEaHl X (AlH) 3,000 3,000 0
Al 3,000
301 YpHE N 3,000 3,000 0
Al 3,000
02 ABI2EHLHB(FANS, NLH) 3,000 3,000 0
OfIDIots IHEEE ®Z0ts2SHI(AlL])
250,000 124+ 12 3,000
Al 3,000
IHESIElS A 323,860 310,060 13,800
Al 295,590
T 28,270
301 LBt NZ 323,860 310,060 13,800
Al 295,590
2 28,270
02 AIBI 2R 2FS(HAHS, L) 323,860 310,060 13,800
OEE EES= 420,0002 *49% * 128 246,960
Al 246,960
OBt 2 X 2,666,66621+ 128 32,000
Al 16,000
= 16,000
O2SZ20s NYFHS
10,000, 00024 %32 30,000
Al 21,000
T 9,000
O=@l3l | 900, 0002 *13] 900
Al 630
= 270
OUERIB0LS | 5,000,008 %22 10,000
Al 7,000
T 3,000
Oots2E7H| 1,000,000 542 4,000
Al 4,000




A JEE=SX0
M I0ts EsKE

=Rl Ol SESAY (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
2550 MEsE 72,000 102,000 230,000
= 57,600
Al 7,200
- 7,200
301 2eEN= 72,000 102,000 /30,000
= 57,600
Al 7,200
- 7,200
01 Al EEHGIS (2 DEXTHE) 72,000 102,000 230,000
OEEER0IE N2+
500,000 x12&~12& 72,000
= 57,600
Al 7,200
- 7,200
otS IS 78,152 88,3%4 A10,242
Il 54,706
Al 23,446
301 LEIE NS 78,152 88,3%4 10,242
Il 54,706
Al 23,446
01 Al EEABZ(2DEER) 78,152 88,394 N10,242
A0S dsE 64,800,000 64,800
Il 45,360
Al 19,440
Ol eots ds+<
8,652,000& 8,652
Il 6,056
Al 2,5%
Oggots g=ol=
2,000,000& %12 2,000
Il 1,400
Al 600
oggdlE X 2,700,000 2,700
Jl 1,890
Al 810
YA UAOtE 2SH| XIJAAS 12,000 12,000 0
= 8,400
Al 3,600
301 LtEN= 12,000 12,000 0
= 8,400
Al 3,600
01 Al EE A S (2 RDEERA) 12,000 12,000 0
Oggtiaots 2=l
1,000,000 x1& 128 12,000




2A:

X ZH -
o=

&2l OtEESAY (SH &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
= 8,400
Al 3,600
2 - IIE S0 delXEXE 1,269 3,420 22,151
= 887
Al 191
- 191
301 EtE NS 1,269 3,420 22,151
= 887
Al 191
- 191
01 Al 2E A S(SRNEXMH) 1,269 3,420 22,151
Ot - IIHSIEOIE MRIXIE XS
1,269,000 1,269
= 887
Al 191
- 191
Stijlolots&s X 258,700 247,894 10,806
= 103,479
Al 155,221
307 212told 258,700 247,894 10,806
= 103,479
Al 155,221
10 MEISXAIEHE2EHIEX 258,700 247,84 10,806
Ostijuloiotsas =gl X3
258,700,000& *10H 2~ 258,700
= 103,479
Al 185,221
SIHIIoHOtSEE SA=E XI& 15,120 15,120 0
Al 7,560
T 7,560
307 212t01d 15,120 15,120 0
Al 7,560
- 7,560
10 MEISXAIEHE 22X 15,120 15,120 0
OsStUIGHOtSEH SAA =<
15,120,000 * 104 2= 15,120
Al 7,560
T 7,560
Ols 3489 9 U= X XA 300 1,000 AT700
201 2= 300 1,000 AT700
2 S5=2g4l 300 400 A100
ool & &8 S 300,000 300
SPDIYA L BSEL XA 36,000 0 36,000




A JEE=SX0
M I0ts EsKE
tRl: OlSEIAIE

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 25,200
Al 10,800
301 EtE NS 36,000 0 36,000
= 25,200
Al 10,800
01 Al EE AT Z(2DEXR) 36,000 0 36,000
OES =4 M0 2825 K&
36,000,000 36,000
= 25,200
Al 10,800
25 A& 53,059, 181 51,954,466 1,104,715
= 28,452,489
= 16,000
Al 17,906,290
- 6,684,402
SIAE 53,059, 181 51,954,466 1,104,715
= 28,452,489
= 16,000
Al 17,906,290
- 6,684,402
O2Hl EEE 16,071,200 16,071,200 0
= 11,303,400
Al 2,637,460
- 1,130,340
307 @I2t01 & 15,071,200 15,071,200 0
= 11,303,400
Al 2,637,460
- 1,130,340
05 2I2+RIE =S 15,071,200 16,071,200 0
O02H BE5& 15,071,200,000& 16,071,200
= 11,303,400
Al 2,637,460
- 1,130,340
3BHl EEE 5,671,873 8,204,782 A\2,622,909
Al 5,671,873
307 elztol & 5,671,873 8,294,782 A2,622,909
Al 5,671,873
05 2IR”IRIE = 4,204,032 6,221,782 A2,017,750
O35M 258 4,204,032,000& 4,204,032
Al 4,204,032
10 AlRISXAZEE 22X 1,467,841 2,073,000 605,159
O3-5Al el 22|
1,467,841,000& 1,467,841
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FA OEES A
ZH: 95 K@
Rl EFAY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 1,467,841
HEeEE 564,520 1,099,380 534,860
= 423,390
Al 98,791
- 42,339
301 EtE NS 564,520 1,099,380 /534,860
= 423,390
Al 98,791
- 42,339
01 Al EE A ZS(2REXMR) 564,520 1,099,380 534,860
Otg =4 Xa 564,520,000 564,520
= 423,390
Al 98,791
T 42,339
2220 13,570,613 9,975,800 3,594,813
= 10,177,960
Al 2,374,857
- 1,017, 7%
301 EtE NS 11,500,817 9,711,600 1,789,217
= 8,625,613
Al 2,012,643
- 862,561
01 Al 2E A S(SRNEXMH) 11,500,817 9,711,600 1,789,217
OR2=50 N 11,500,817,000& 11,500,817
= 8,625,613
Al 2,012,643
- 862,561
307 212+01& 2,069,7% 264,200 1,805,5%
= 1,552,347
Al 362,214
- 155,235
05 git?(& = 2,069,7% 264,200 1,805,5%
ORZs0 B8 2,069,79%6,000& 2,069,7%
= 1,562,347
Al 362,214
- 185,235
AXISE 22 237,854 236,000 1,84
= 118,927
Al 83,249
- 35,678
307 gl2to| & 237,8%4 236,000 1,854
= 118,927
Al 83,249




FA OEES A
B 98 19
Rl EFAY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 35,678
05 212t =S 237,854 236,000 1,84
OAIZIHIE= XI& 237,854,000 237,854
= 118,927
Al 83,249
- 35,678
olglolE JIse2d 32,000 38,000 26,000
[ 16,000
Al 8,000
- 8,000
307 elztol & 2,000 8,000 26,000
= 1,000
Al 500
T 500
11 AMEISXAEEES 2,000 8,000 26,000
OE=FXNAN0IE bl
2,000,000& 2,000
= 1,000
Al 500
- 500
402 2IF X201 & 30,000 0 30,000
= 15,000
Al 7,500
- 7,500
02 QIZEXHZ2 AL E X (01X THE) 30,000 0 30,000
OO0IBI0IE JHES=SAt 30,000,000& 30,000
= 15,000
Al 7,500
- 7,500
2=0ts & 712,800 712,800 0
Al 356,400
- 366,400
307 elzto| & 712,800 712,800 0
Al 366,400
- 366,400
05 212+ =S 711,600 711,600 0
OO0l 258 A XA
711,600,000 711,600
Al 365,800
- 365,800
10 Al2ISTIAIEEE 22X 1,200 1,200 0
OZlots 258 X2 1,200,000 1,200
Al 600
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FA OEES A
ZH: 95 K@
Rl EFAY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 600
ool =g 194,261 78,835 115,426
= 116,557
Al 54,393
- 23,311
307 gl2to| & 194,261 78,835 115,426
= 116,557
Al 54,393
- 23,311
10 Al SXAAEEHE 22X 111,261 4,800 106,461
OZ 0ot 2012l01E Xt&E=2ds|
7,200,000& 7,200
= 4,320
Al 2,016
- 864
O=49d 2Nz 104,061,000& 104,061
= 62,437
Al 29,137
T 12,487
11 AMEISXAIEEXS 83,000 74,035 8,965
Ou M w-H] 83,000,000 83,000
= 49,800
Al 23,240
T 9,960
olold XI& 2,662,100 2,281,100 381,000
Al 2,042,050
- 620,050
307 @120l & 2,662,100 2,281,100 381,000
Al 2,042,050
- 620,050
10 Al2ISTIAEEE2HIEX 46,500 47,900 21,400
Odittet] 46,500,000 46,500
Al 23,250
- 23,250
11 AMEISXAIEEE 2,615,600 2,233,200 382,400
O&dl+&bl 99,000,000& 99,000
Al 49,500
- 49,500
OZ &l 36,000,000& 36,000
Al 18,000
- 18,000
OO0lglold &2 - 2tAll| 312,000,000 312,000
Al 312,000
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FA OEES A
M 2% K
&2l ESAIY (EEEE))
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Ogrg =gl 318,600,000 318,600
Al 159,300
=] 159,300
OS2y LR X
1,850,000,000& 1,850,000
Al 1,480,000
T 370,000
S3E0IE X 71,200 58,800 12,400
Al 40,600
- 30,600
307 212t01d 71,200 58,800 12,400
Al 40,600
- 30,600
10 MEISXAIEHE2EHIEX 71,200 58,800 12,400
O3380e0ld usetd el
2,000,000 +5J1 A+ 13 10,000
Al 10,000
O3380el0ld Xcld 22|
300,000& *17JH 2=+ 123 61,200
Al 30,600
- 30,600
SSEOE 0 2EHI(HEAIY) 988,800 942,666 46,134
Al 870,144
T 118,656
307 212t01™ 988,800 942,666 46,134
Al 870,144
T 118,656
10 Al SXAAEEHE 22X 988,800 942,666 46,134
O338 020l 2IHI(HEALY)
988,800,000 988,800
Al 870,144
- 118,656
WA Al XE 5,486,234 4,750,000 736,234
= 3,291,740
Al 1,536,146
- 658,348
307 @120l & 5,486,234 4,750,000 736,234
= 3,291,740
Al 1,536,146
- 658,348
10 MEISXAIEHE 22X 5,486,234 4,750,000 736,234
OFSXA0ZI01E DR 01|
5,486,234,000 5,486,234
= 3,291,740
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FA OEES A
mE: 25 K
Tl ESAY (=CR-E))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,536, 146
T 658,348
S ML K& 1,567,500 2,069,920 A502,420
= 940,500
Al 438,900
- 188,100
307 lztol & 1,567,500 2,069,920 A502,420
= 940,500
Al 438,900
- 188,100
10 Al2ISTIAIEEE2HIE X 1,567,500 2,069,920 A502,420
OLAL 22 JHaH]
1,567,500,000& 1,567,500
= 940,500
Al 438,900
- 188,100
SEWAL, CHHIDAL X2 3,466,691 3,642,000 A175,309
= 2,080,015
Al 970,673
- 416,003
307 @I2t01 & 3,466,691 3,642,000 175,309
= 2,080,015
Al 970,673
- 416,003
10 AlRISXAIZEHE 22X 3,466,691 3,642,000 A175,309
O0lel0ld 2X A K&
2,948, 747,000 2,948,747
= 1,769,248
Al 825,649
- 363,850
OUHM AL X1 517,944,000 517,944
= 310,767
Al 145,024
- 62,153
ESuAA MM X (=2 S) 1,222,540 1,255,764 A33,224
Al 670,120
- 552,420
307 212+01& 1,222,540 1,255,764 N33,224
Al 670,120
- 552,420
10 Al SXAIEHE 202 1,222,540 1,255,764 N33,224
OCIAHIOIXIZAIE MLt 895,800
WAL M EHI
648,000,000 648,000




FA OEES A
B 98 19
=t EFAHY (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 324,000
T 324,000
O©0-2MIEH, ZOHOHEF WAL M IH &b
204,000,000 204,000
Al 102,000
- 102,000
OLA EJI2&E+H(E2XAY)
43,800,000 43,800
Al 21,900
T 21,900
OEFuAM XEE SA Z2E
66,700,000& 66,700
Al 66,700
OE|DAY A50 2 Sgag
51,000,000& 51,000
Al 51,000
O=&g - 220018 FAAES WAA &=
g 141,040,000 141,040
Al 70,520
- 70,520
OZHOIE 2018018 XY X2+
18,000,000& 18,000
Al 9,000
- 9,000
OHOHOIE 2012101 XHEIIAF Q124H|
50,000,000& 50,000
Al 25,000
- 25,000
NS0 24 827,599 775,987 51,612
201 et 3| 2,400 2,400 0
02 s3=gHl 2,400 2,400 0
OF0tEeXHE SH=IH
2,400,000 2,400
307 glztol & 825,199 773,587 51,612
05 2IMRIE =3 825,199 773,587 51,612
OF0ISEANHE 238 2 A
825,199,000& 825,199
NLSOLSEXIAME K (HEALY) 40,200 40,200 0
Al 30,150
- 10,050
307 21201 & 40,200 40,200 0
Al 30,150
- 10,050
05 2ItRIE = 40,200 40,200 0
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A IEF=X L

Zu: o= IE
Rl EFAY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OF0ISSAHE S EHRFLZWFAYE 2
ZHl 40,200,000& 40,200
Al 30,150
- 10,050
2N 298 243 99,480 92,660 6,820
Al 22,484
- 76,996
201 2= 50,978 50,978 0
Al 22,484
- 28,494
01 At22t2lt] 6,010 6,010 0
OE=dHAAE 29 4+ S
70,0003 x 152 +23] 2,100
O S At A+ M
17,0002 100 1,700
O=d & 822 & 7
2,210,000 2,210
2 35244l 44,968 44,968 0
O0el0ld HESHESE It XNI&
44,968,000& 44,968
Al 22,484
- 22,484
202 04| 682 682
01 2K 682 682
OZ2|0tl 682,000 682
203 gF=4| 820 1,000 A180
03 A=A =T 820 1,000 2180
O=F2AIH =& 820,000 820
307 elztol & 47,000 40,000 7,000
02 2B YAIHE £ 30,000 25,000 5,000
ONBI0IEAE S Hel0lg &AL
30,000,000 30,000
11 AMISXAIEEX 17,000 15,000 2,000
OEFuAd At WF
6,000,000 6,000
O=SE0e0lEHE A
3,000,000& 3,000
OuZtHel0lZHAS e &AL
5,000,000& 5,000
OJHgoelolgdgal At
3,000,000 3,000
U0l X ¥ EFNAY MM X2 (XHAIY) 571,716 513,572 58, 144
307 glztol & 571,716 513,572 58, 144
10 Al SXAEEHE2EHI2x 571,716 513,572 58,144
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FA OEES A
B 98 19
Rl EFAY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OWAF ZBIIZE2 (THAR)
44,640,000& 44,640
ONgold B2+l
33,700,00024 33,700
OZ=NYl 2 DA R4
4,000,000 4,000
Ozcl& el 158,400,000 168,400
OuAL SEFJHHI 140,000,000 140,000
OO0glold 2 - 2HAHI 53,676,000& 53,676
O2& XMPIMEHI 80,300,000 80,300
OEgIRY A
57,000,000 57,000
Otse =X & del sd 19,250,748 18,527,800 722,948
= 11,314,487
= 761,081
Al 4,298,251
T 2,876,929
ots=Xsa 19,069,088 18,354,000 705,088
= 11,314,487
[ 607,753
Al 4,286,751
- 2,850,097
AEotsHE 238 XA 137,400 132,600 4,800
[ 68,700
Al 34,350
- 34,350
307 elzto| & 137,400 132,600 4,800
= 68,700
Al 34,350
- 34,350
10 AlRISTIAIEEE 22X 137,400 132,600 4,800
OJl=2gl 126,000,000 126,000
= 63,000
Al 31,500
- 31,500
OFot2gdI(Creiegel)
11,400,000 11,400
= 5,700
Al 2,850
- 2,850
XS 0otsHE SAHA 2124H] XI& 710,100 549,600 160,500
= 365,050
Al 177,525
- 177,525




FA OEES A
Hu: olsol =X L Hel B
(s B0 == NS (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 710,100 549,600 160,500
= 365,050
Al 177,525
- 177,525
10 Al2ISTIAIEEE 22X 710,100 549,600 160,500
OXIHOISHEl BAR 21248] IR
710,100,000 710,100
= 365,050
Al 177,525
- 177,525
XS 0tsHE =249l X 150,220 99,240 50,980
Al 52,470
- 97,750
307 elztol & 142,220 91,240 50,980
Al 52,470
- 89,750
10 Al SXAEEHE 22X 142,220 91,240 50,980
OXSE0otsHe =28 X
2,000,000 «8 I A*12] 16,000
Al 8,000
- 8,000
OXSotSHE S832=s N&H
1,200,000 874 A 9,600
Al 4,800
- 4,800
OXIS0tsHE el2d] =t
79,340,000 79,340
Al 39,670
- 39,670
OXS0ISHE SAtAs& A&
140,000& x21F 123 35,280
OXNSOtSHE SAHA wsH| A&
2,000,000& %12 2,000
402 2I2F X201 & 8,000 8,000
01 RIENSA S E X (XM THR) 8,000 8,000
OXE0tsHE HIZ+28l X
1,000,000 x84 A-*12] 8,000
S49Y XNG0tsHE FIOHKI 14,400 14,400 0
= 7,200
Al 3,600
- 3,600
307 212+01& 14,400 14,400 0
= 7,200
Al 3,600
- 3,600




FA OEES A
Hu: olsol =X L Hel B
(s B0 == NS (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
10 AlRISXIAIEEE 22X 14,400 14,400 0
OS+=x8 2N
600,000 *2)H A+ 123] 14,400
= 7,200
Al 3,600
- 3,600
Ots=RIAL IHAXIR 183,367 183,35 12
= 91,543
Al 45,772
- 46,052
101 @124H| 183,087 183,075 12
s 91,543
Al 45,772
- 45,772
M ORNZZ2NSE S 183,087 183,075 12
OOFS=XIWAL Q14| 183,087,000 183,087
= 91,543
Al 45,772
- 45,772
201 2= 280 280
01 At22t2lt] 280 280
OOtS=X WAL HE dA==E
70,0003 x4 12 280
CietESsSdE 23l 24,490 18,540 5,950
= 12,000
Al 6,000
- 6,490
201 Eer23 | 490 540 A50
01 At2tltl 490 490 0
OfI=ESd HUMNAYE FA=E
490,000& 490
307 gl2to| & 24,000 18,000 6,000
[ 12,000
Al 6,000
- 6,000
10 Al SXAAEEHE2EHI2x 24,000 18,000 6,000
OltigHssdHE23
1,000,000 x24* 122 24,000
[ 12,000
Al 6,000
T 6,000
CietESsSdE 2] 146,520 111,668 34,852
= 73,260
Al 36,630
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FA OEES A
= olsol =X ¥ Mol =3
i V=t N =SS! (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 36,630
307 gl2tol & 146,520 111,668 34,852
[ 73,260
Al 36,630
- 36,630
10 Al SXAAEEHE2EHI2x 146,520 111,668 34,852
OCHE NS SHE o121y
146,520,000 146,520
[ 73,260
Al 36,630
- 36,630
CIENESSdE SAL =< 16,160 8,080 8,080
Al 3,120
- 13,040
307 @120l & 16,160 8,080 8,080
Al 3,120
- 13,040
10 Al2IS XA EEE 22X 16,160 8,080 8,080
OtUgNEsHE MM
130,000 x4 & x122] 6,240
Al 3,120
T 3,120
OCHINSSHE SARL(XH)
9,920,000 9,920
ooI=sS A 2,731,922 3,236,222 504,300
= 1,912,345
Al 819,577
307 212+01& 2,731,922 3,236,222 504,300
= 1,912,345
Al 819,577
10 Al SXAIEEHE2EHI2x 258,500 262,800 24,300
OO0t0I== N 23|
258,500,000 258,500
= 180,950
Al 77,550
11 AMISXAIEEX 2,473,422 2,973,422 A500,000
OO0I0I=SXIE A AtHI
2,473,422,000& 2,473,422
= 1,731,3%
Al 742,027
OL0IES FIHKIE 137,256 140,448 A3,192
Al 68,628
- 68,628
307 el2to| & 137,256 140,448 A3, 192
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FA OEES A
= olsol =X ¥ Mol =3
(s B0 == NS (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Al 68,628
= 68,628
e N EEES 137,256 140,448 23,192
OO00IS 20| 222l X2
5,160,000& 5,160
Al 2,580
- 2,580
OOl0I=20] wsSHl XI&
132,096,000 132,096
Al 66,048
- 66,048
OlSZEXAE MXSHHMBLEX 660,797 660,797 0
= 462,558
Al 198,239
301 LeEN= 660,797 660,797 0
= 462,558
Al 198,239
01 Al EE A S(FRNEXMA) 660,797 660,797 0
OOLSZEXANT X
660,797,000 660,797
= 462,558
Al 198,239
Ots=¢ XI& 11,174,480 10,409,178 765,302
= 8,939,584
Al 1,564,427
- 670,469
301 22N = 11,174,480 10,409,178 765,302
= 8,939,584
Al 1,564,427
- 670,469
01 Al 2EHHS(FREXM) 11,174,480 10,409,178 765,302
Ooots=¢ 11, 174,480,000 11,174,480
= 8,939,584
Al 1,564,427
- 670,469
FHES OlSXE 2,870,976 2,719,872 151,104
Al 1,225,913
- 1,645,063
301 22N = 2,295,162 2,176,947 118,215
Al 829,108
T 1,466,054
02 MBI 2HHSFHS(HAANS, XLHE) 2,295,162 2,176,947 118,215
OZAOIE SAXIA(LEE BA)
1,105,477,000& 1,105,477
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FA OEES A
= olsol =X ¥ Mol =3
el OlE=EXSsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 829,108
= 276,369
OZAOIE SANA(E - 2 - 2HY, DS
SEaHNg= 1,189,685,000& 1,189,685
307 @I2t0| & 575,814 542,925 32,889
Al 396,805
- 179,009
11 AMRISXAEEES 575,814 542,925 32,889
OZAOIE SANA(BY A4l Y8z S4
) 529,074,000 529,074
Al 396,805
= 132,269
OZAOIE BANA(E - 4 BEY, DS
SEAHEL3) 46,740,000 46,740
R &F =8 ¢ 101,000 0 101,000
Al 50,500
- 50,500
301 2eEN= 101,000 0 101,000
Al 50,500
T 50,500
02 MBI 2HEHSFHS(HAANS, XLHE) 101,000 0 101,000
OZR2 &3 £8 +9
101,000,000& 101,000
Al 50,500
- 50,500
XEE OtsSEAMHIA X 191,660 173,800 17,860
[ 153,328
Al 11,500
- 26,832
FAHS OlSSEAHIA XIH 191,660 173,800 17,860
[ 153,328
Al 11,500
- 26,832
201 Ler23 | 51,029 56,835 25,806
= 41,016
Al 3,069
- 6,944
01 At22t2lt] 30,821 26,096 4,725
Ooget=2HI(EEE 8)
11,541,000& 11,541
= 9,232
Al 692
- 1,617




K ==NIni;
mE: oSl =X ¥ M2l X
e g OtssSgAdlA X (S &S
CHE SR (BIH) - HISAY - BAS Ofl by e MimE=E)
OCRIAEIE Jl=2dt|
4,000,000 4,000
hay 3,200
Al 240
- 560
OO0l=sSEAIZEl AL TI=H]
100,000& x4 H*13] 400
rag 320
Al 24
- 56
OO0lSSE At ZElAl RIE W =HI
540,000& 4 23| 4,320
g 3,456
Al 259
- 605
o294 4,200
OCEAEE 2933 &4 =Y
70,000 x8H x 13 560
g 448
Al 33
- 79
O0tsS=EXIIZEYM &AL =G
70,0003 * 11 *33] 2,310
= 1,848
Al 138
- 324
OEEAEIE AIHIE A £
70,0003 x1H *x43] 280
= 224
Al 16
- 40
OEEZAEIE DB AAIEY
70,0003 *3H x 13 210
g 168
Al 12
- 30
OOt/ g9 &A £E
70,000 x12H 840
rag 672
Al 50
- 118
OO0I=SEAI2tel A 24|
9,000 *4H #5481 x 128 2,160
rag 1,728
Al 129
- 303




FA OEES A
mE: 0lS9 =X L M| B
ol WEE OlSEFAHIA N (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OARZ(=ADI, E2))
230,000 * 122 2,760
= 2,208
Al 165
= 387
OR0IZHIAAY BRE
120,000& * 122 1,440
= 1,182
Al 86
T 202
2 s5=34l 5,161 6,739 A1,578
O332= % HAl 5,161
OsE=UE MEZ
54,000 x4LHx 122 2,592
[ 2,074
Al 156
- 362
ORER=S 48,0002 48
[ 39
Al 2
- 7
onved=z 12,0002~ 128 144
[ 116
Al 8
- 20
oNIIR3 190,000 ~ 128 2,280
[ 2,016
Al 151
- 113
Ogx= tiet=H 2l
97,0002 %12 97
[ 78
Al 6
- 13
03 A= 15,047 24,000 A\8,953
OEEHARE 2208 23
15,047,000& 15,047
= 12,037
Al 902
- 2,108
202 04| 5,109 2,7% 2,353
= 3,944
Al 286
- 879




FA OEES A
= olsol =X ¥ Mol =3
ol WEE OlSEFAHIA N (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 5,109 2,7% 2,353
O=LHxHl 5,109
WE ¥ X0 S 5,109,000& 5,109
[ 3,944
Al 286
T 879
203 HR=AH] 500 439 61
= 351
Al 4
T 106
03 A=A R =AH] 500 439 61
OFLAIHFX 500,000 500
= 351
Al 44
- 105
301 EtE NS 135,022 113,770 21,252
= 108,017
Al 8,101
- 18,904
01 AR 2EHSHS(RDNEXRTHE) 120,000 113,043 6,957
CYAEIE W, UBMUIA 2
120,000,000 120,000
= 96,000
Al 7,200
- 16,800
11 dALEEIXIZE S 14,522 194 14,328
OSEAEIE Z208 24 AlY|
14,522 ,000& 14,522
= 11,617
Al 871
- 2,034
14 IIEt2 83 500 533 A33
O0ts S &alixl=t| 500,000 500
= 400
Al 30
- 70
HH2LHHIOIE=ID) 214,684 212,240 2,444
IH2AHI (OSSN 141,028 141,200 A172
A2 EHI(OIEESAIL) 141,028 141,200 A1T72
101 21AH| 141,028 141,200 A172
01 2= 141,028 141,200 AT2
Oxl=22=¢ 141,028
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FA OEES A
B AEHSEAH|(IIEZX )
CHel: QIEA2AH|(JISS XD (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
PIEFEEES
12,8442 x25EH *x3BA| 2+ 123 134,862
OAIZ2I2 2+ (OLSSIHEAL)
12,8443 %2 +20A1 2t 123 6,166
[2ZHI(OIEEEX11) 73,656 71,040 2,616
JI23Hl 73,656 71,040 2,616
201 2= 31,896 29,280 2,616
01 AtR2t2lt] 31,8%6 29,280 2,616
OJIZ2 A2/l 21,0003 x26E«12& 6,552
OSZAE Al
9,000 x262+8A!x 12 22,464
O=AD| gtz 240,000 «1CH* 122 2,880
202 04| 37,440 37,440
01 =LHOLI 37,440 37,440
OZLH0iH] 20,0002 «26H+62 * 122 37,440
203 HR=H] 4,320 4,320
M EA2HER=AH 4,320 4,320
OJIEH(30H0l5tH) 400,000 122 *90% 4,320




